AFR 1 (AFHERER, MEVEERENTER, BRIZNERERR U RERMERR)

RERNOAR
[FhL &
TERRE e et R e,
R ERLS: TR
Ly 2| A
—_— s Bt TIBEHE | prme | memEn | BEBRS Rk
= = wp s || REE R EE Fee £
% % % %
9% A Ty RAAR 18| 0.21 0.9 0.06 -
2% 0.04 0.9 0.01 -
3% 0.03 0.9 0.01 -
1048 A Ty AARX 18| 3. 41 1.6 1.93 —
23 1.15 1.2 0.50 -
3| 0.14 0.9 0.01 -




HFBHIDIESE

x=
BEREE e HiEt B
RAR RS B
NN I SLBIENE | spme | memEn | mRRH iz
% % % %
18 ElERAX 12 13.12 12.7 1.15 —
2% 9.12 8.9 0.86 -
3% 6. 06 6.2 0.49 -
FHEzRAX 2% 12.02 10.1 2.15 -
3% 8.03 6.6 1.67 -
4 F| 5.07 4.4 1.1 —
3% ElERAX 1&l 23.70 22.9 2.08 -
2% 16. 47 16. 1 1.55 -
3 10. 95 11.2 0.88 —
FHEzRAX 2% 21.71 18.2 3.88 —
3 14.50 11.9 3.02 —
4 E| 9.16 1.9 2.00 -
9% EMHERAX 12 23.70 22.9 2.08 —
2% 16.47 16. 1 1.55 —
3 10. 95 11.2 0.88 —




HEEHDELE

XK=
EEFTIEA iz et BA S Hhisg
T IR %1 R RIKEKE
axs | mmmm | o0 | sEme | memEs | mEEE | ERH
sprEn s || BEE BEWEE R R
% % % %
6%8 g4 T v AARK 1Z| 3.72 1.4 2.34 —
2F| 2.1 1.1 1.34 —
3F| 1.05 1.1 0.57 —
7%8 g4 T v AARK 1Z| 2.22 1.5 1. 11 —
2F| 0.63 0.9 0.39 —
3F| 0.29 0.9 0.13 —
EEFTIRA iz EET BASL Hhisg
TR IR % 1R B/ 371 =Y = kv )
axs | mmmm | o0 | sEme | memEs | mEEE | ERH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
6%8 g4 T v AARK 1Z| 4.49 1.3 3.20 —
2F| 3.19 1.1 2.19 —
3F| 2.29 1.1 1.54 —
7%8 g4 T v AARK 1Z| 5.53 1.7 3.84 —
2F| 3.43 1.3 2.20 —
3F| 1.64 1.1 0.97 —
EEFTIEA Hhizg #EaT B S Hhisg
TRk IR % 1R /374N iz 1]
—_— smpx | US| smme | mrpEE | BERM | gBM
HFIRAELEEIS DAESR DR ER Hps Hps
% % % %
6%8 g4 T v AARK 1Z| 4.93 1.5 3.44 —
2F| 3.30 1.2 2.19 —
3F| 1.85 1.0 1.28 —
7%8 g4 T v AARK 1Z| 3.77 2.1 1.78 —
2F| 1.22 1.2 0.56 —
3F| 0.03 0.01 —




HEEHDELE

XK=
EEFTIEA iz et BA S Hhisg
;3 % 1R TRIIR AT
axs | mmmm | o0 | sEme | memEs | mEEE | ERH
sprEn s || BEE BEWEE R R
% % % %
6%8 g4 T v AARK 1Z| 4.07 1.8 2.29 —
2F| 1.70 1.1 1.02 —
3F| 0.69 1.0 0.37 —
7%8 g4 T v AARK 1Z| 3.53 1.6 2.02 —
2F| 1.13 1.1 0.63 —
3F| 0.55 0.9 0.33 —
EEFTIRA iz EET BASL Hhisg
TR IR % 1R ZIFERE™
axs | mmmm | o0 | sEme | memEs | mEEE | ERH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
6%8 g4 T v AARK 1Z| 8. 11 2.3 5.82 —
2F| 5.46 1.6 3.87 —
3F| 3.54 1.2 2.38 —
7%8 g4 T v AARK 1Z| 6. 05 2.0 4.06 —
2F| 3.60 1.5 2.18 —
3F| 1. 67 1.0 1.14 —
EEFTIEA Hhizg #EaT B S Hhisg
TRk IR % 1R B/ 3= =3
—_— smpx | US| smme | mrpEE | BERM | gBM
HFIRAELEEIS DAESR DR ER Hps Hps
% % % %
6%8 g4 T v AARK 1Z| 3.50 1.6 2.00 —
2F| 1.01 1.1 0.48 —
3F| 0.03 0.9 0.01 —
7%8 g4 T v AARK 1Z| 2.91 1.6 1.54 —
2F| 0.83 1.1 0.39 —
3F| 0.03 0.9 0.01 —




HEEHDELE

x=
B R 5 FaT B b,
R ERLS) KR
L Y| A
S S SLRIERS | same | memax | BEEs RIBH)
_;Heiﬁlzﬁggﬁgué 7T=£$ ﬁﬁ*& = $ £EE$ §EE$
% % % %
64 A Ty AARX 1] 4.19 1.6 2.60 -
2% 1.75 1.1 1.06 -
3 & 0.78 1.0 0.44 -
74 A Ty AARX 1 &) 5.21 2.0 3.28 -
2 & 2.48 1.2 1.55 -
3 & 0.98 1.1 0.51 -
HER R ) Feat e,
e ERLS) FERTED
L Y| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
6% A Ty AARX 1] 4.07 1.7 2.38 -
2% 1.62 1.1 0.96 -
3 & 0.51 1.0 0.23 -
74 A Ty AARX 1 &) 4.07 1.7 2.38 -
2% 1.67 1.2 0.91 -
3 & 0.53 1.0 0.24 -
HER R i FaT B,
e ERLS) RERER
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
;jeiﬁﬂﬁggﬁgué 7T=£$ i&*& = $ §EE$ §EE$
% % % %
64 A Ty AARX 1] 5.57 2.0 3.58 -
2% 3.18 1.4 1.93 -
3 & 1.08 1.1 0.53 -
74 A Ty AARX 1 &) 5.22 2.0 3.23 -
2% 2.69 1.2 1.7 -
3 & 0.99 1.1 0.52 -




HEEHDELE

x=
B R 5 RLEE
R ERLS) FEREEARD
L Y| A
S S SLRIERS | same | memax | BEEs RIBH)
_;Heiﬁlzﬁggﬁgué 7T=£$ ﬁﬁ*& = $ £EE$ §EE$
% % % %
64 A Ty AARX 1] 7.58 2.0 5.59 -
2% 5.09 1.6 3.50 -
3 & 3.14 1.3 1.97 -
74 A Ty AARX 1 &) 6. 91 2.2 4.72 -
2% 4.07 1.4 2.68 -
3 & 2. 36 1.2 1.45 -
HER R ) Feat B e,
e ERLS) RBRERD
L Y| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
6% A Ty AARX 1] 3.79 1.8 2.06 -
2% 1.57 1.1 0.97 -
3 & 0.53 0.9 0.31 -
74 A Ty AARX 1 &) 4.86 1.8 3.07 -
2% 2.48 1.3 1.45 -
3 & 0.67 1.0 0.35 -
HER R i FaT B AL,
e ERLS) RERIRA
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
;jeiﬁﬂﬁggﬁgué 7T=£$ i&*& = $ §EE$ §EE$
% % % %
64 A Ty AARX 1] 5.95 1.8 4.16 -
2% 4.16 1.3 2.81 -
3 & 2.1 1.1 1.81 -
74 A Ty AARX 1 &) 5.50 1.8 3.1 -
2 & 3.48 1.5 2.09 -
3 & 1.62 1.1 0.96 -




HEEHDELE

XK=
EEFTIEA iz et BA S Hhisg
;3 % 1R B/ 31 =%sin
axs | mmmm | o0 | sEme | memEs | mEEE | ERH
sprEn s || BEE BEWEE R R
% % % %
6%8 g4 T v AARK 1Z| 3.55 1.3 2.29 —
2F| 2.33 1.1 1.57 —
3F| 1.42 1.1 0.86 —
7%8 g4 T v AARK 1Z| 2.60 1.5 1.40 —
2F| 1.06 1.1 0.57 —
3F| 0.43 0.9 0.24 —
EEFTIRA iz EET BASL Hhisg
TR IR % 1R B/ 301 =Y: o)
axs | mmmm | o0 | sEme | memEs | mEEE | ERH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
6%8 g4 T v AARK 1Z| 8.00 2.0 6.01 —
2F| 5.83 1.6 4. 24 —
3F| 3.90 1.3 2.61 —
7%8 g4 T v AARK 1Z| 6.75 1.8 4.96 —
2F| 4. 81 1.5 3.32 —
3F| 3.05 1.1 2.08 —
EEFTIEA Hhizg #EaT B S Hhisg
TRk IR % 1R TIWEFAT™H
—_— smpx | US| smme | mrpEE | BERM | gBM
HFIRAELEEIS DAESR DR ER Hps Hps
% % % %
6%8 g4 T v AARK 1Z| 6.95 2.0 4.96 —
2F| 4. 66 1.6 3.07 —
3F| 2.42 1.2 1.50 —
7%8 g4 T v AARK 1Z| 9.53 2.3 7.24 —
2F| 7.13 1.8 5.34 —
3F| 4.90 1.5 3. 41 —




HEEHDELE

x=
EER R 5 FaT B e,
AR ERALE R < 2
L Y| A
S S SLRIERS | same | memax | BEEs RIBH)
) _;Heiﬁlzﬁggﬁgué 7T=$E$ ﬁﬁ*&%$ £EE$ §EE$
% % % %
64 A Ty AARX 1] 1.10 1.8 5. 31 -
2% 4.99 1.6 3.40 -
3 & 2.71 1.1 1.86 -
74 A Ty AARX 1 &) 4.50 1.6 2.91 -
2 & 2.31 1.2 1.44 -
3 & 0.98 1.0 0.60 -
EER A ) FaT B AL,
AR ERALE RBROF B LD
L Y| A
S S SLRIERS | same | memax | BEEA RIEH)
) %,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*&%$ gﬁi&'$ gﬁi&'$
% % % %
6% A Ty AARX 1] 5.78 1.8 3.99 -
2% 3. 64 1.3 2.36 -
3 & 2.10 1.1 1.39 -
74 A Ty AARX 1 &) 6. 40 1.6 4.81 -
2 & 4.79 1.3 3.50 -
3 & 3.15 1.3 1.98 -
EER R i FaT e,
AR ERLS) REREIRT
L ]| A
S S IBEHE | smme | mepay | BRBRY R
~ wxmmmns | REE BEREE | RRE A
% % % %
64 A Ty AARX 1] 8.83 1.5 1.34 -
2% 1.76 1.3 6. 47 -
3 & 6. 62 1.3 5.33 -
74 A Ty AARX 1 &) 1.07 1.5 5.58 -
2% 5.84 1.2 4.65 -
3 & 4.79 1.2 3.60 -




HEEHDELE

XK=
EEFTIEA iz et BA S Hhisg
;3 % 1R B/ 31 =% )
axs | mmmm | o0 | sEme | memEs | mEEE | ERH
sprEn s || BEE BEWEE R R
% % % %
6%8 g4 T v AARK 1Z| 1.62 1.2 0.87 —
2F| 0.18 0.9 0.04 —
3F| 0.03 0.9 0.01 —
7%8 g4 T v AARK 1Z| 5.12 2.0 3.13 —
2F| 2.49 1.1 1.69 —
3F| 1.62 1.1 1.01 —
EEFTIRA iz EET BASL Hhisg
TR IR % 1R TIPETA™H
axs | mmmm | o0 | sEme | memEs | mEEE | ERH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
6%8 g4 T v AARK 1Z| 9.58 1.9 7.69 —
2F| 1.72 1.6 6.13 —
3F| 6.06 1.5 4.57 —
7%8 g4 T v AARK 1Z| 7.91 1.8 6.12 —
2F| 6.06 1.3 4. 77 —
3F| 4. 86 1.2 3.67 —
EEFTIEA Hhizg #EaT B S Hhisg
TRk IR % 1R B ERERET
—_— smpx | US| smme | mrpEE | BERM | gBM
HFIRAELEEIS DAESR DR ER Hps Hps
% % % %
6%8 g4 T v AARK 1Z| 6.72 2.0 4.73 —
2F| 4. 38 1.8 2.59 —
3F| 1.62 1.2 0.87 —
7%8 g4 T v AARK 1Z| 5.03 1.8 3.24 —
2F| 2.72 1.3 1.66 —
3F| 1.30 1.1 0.76 —




HEEHDELE

XK=
EEFTIEA iz et BA S Hhisg
;3 % 1R B/ 31 =E: IS0
axs | mmmm | o0 | sEme | memEs | mEEE | ERH
sprEn s || BEE BEWEE R R
% % % %
6%8 g4 T v AARK 1Z| 3.22 1.8 1.61 —
2F| 1.45 1.1 0.88 —
3F| 0.59 1.0 0.29 —
7%8 g4 T v AARK 1Z| 1.97 1.5 0.90 —
2F| 0.43 1.0 0.17 —
3F| 0.03 0.9 0.01 —
EEFTIRA iz EET BASL Hhisg
TR IR % 1R B/ 31 =% visn )
axs | mmmm | o0 | sEme | memEs | mEEE | ERH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
6%8 g4 T v AARK 1Z| 2.58 1.8 1. 11 —
2F| 0.40 0.9 0.21 —
3F| 0.03 0.9 0.01 —
7%8 g4 T v AARK 1Z| 2.46 1.7 1.08 —
2F| 0.53 1.0 0.24 —
3F| 0.03 0.9 0.01 —
EEFTIEA Hhizg #EaT B S Hhisg
TRk IR F1RXE IR YRR T
—_— smpx | US| smme | mrpEE | BERM | gBM
HFIRAELEEIS DAESR DR ER Hps Hps
% % % %
6%8 g4 T v AARK 1Z| 3.87 1.5 2.39 —
2F| 2.34 1.1 1.52 —
3F| 1.12 1.1 0.62 —
7%8 g4 T v AARK 1Z| 3.06 1.4 1.84 —
2F| 1.58 1.1 0.93 —
3F| 0.30 1.0 0.06 —




HEEHDELE

x=
B R 5 CRLEE
R ERLS) R
L Y| A
S S SLRIERS | same | memax | BEEs RIBH)
_;Heiﬁlzﬁggﬁgué 7T=£$ ﬁﬁ*& = $ £EE$ §EE$
% % % %
64 A Ty AARX 1] 5.88 2.0 3.89 -
2% 3.72 1.2 2.53 -
3 & 2.44 1.1 1.66 -
74 A Ty AARX 1 &) 3.83 1.6 2.26 -
2% 1.57 1.1 0.93 -
3 & 0.58 0.9 0.35 -
HER R ) HET B,
e ERLS) KBRD T H155 o
L Y| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
6% A Ty AARX 1] 10. 08 7.59 -
2 | 1.76 5.97 -
3 & 5.51 4.02 -
74 A Ty AARX 1 &) 10. 44 7.65 -
2% 1.67 . 5. 68 -
3 & 5.02 1.6 3.43 -
HER R i FaT B e,
e ERLS) BRI
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
;jeiﬁﬂﬁggﬁgué 7T=£$ i&*& = $ §EE$ §EE$
% % % %
64 A Ty AARX 1] 2.54 1.6 1.25 -
2% 0.55 1.1 0.13 -
3 & 0.03 0.9 0.01 -
74 A Ty AARX 1 &) 2.46 1.6 1.19 -
2% 0.44 1.1 0.09 -
3 & 0.03 0.9 0.01 -




HEEHDELE

A=
ERIE fT IR 4 Hh g HiEt B (L hig
TR 51 Xig A i
axs | mmmm | o0 | sEme | memEs | mEEE | ERH
sprEn s || BEE BEWEE R R
% % % %
6 %8 igi4A T v RAK 12| 1.38 1.1 0.77 —
2| 0.28 0.9 0.12 —
3 &l 0.03 0.9 0.01 —
7% igi4f T v o RAK 12| 4.52 1.5 3.03 —
2% 2.88 1.1 2.00 —
3E| 2.05 1.1 1.35 —
#RIE fiT IR 4 Hh iz HiEt B hig
3 £ 1RXE ZWEITAT
axs | mmmm | o0 | sEme | memEs | mEEE | ERH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
6 %8 igi4A T v RAK 12| 5.17 1.5 3.68 —
2| 3.63 1.2 2.45 —
3 &l 2.22 1.1 1.48 —
7% igif T v RAK 12| 3.91 1.7 2.22 —
2% 1.99 1.1 1.25 —
3E| 0.88 1.0 0.52 —
ERE fiT IR 4 Hh iz #iEt B Hhig
3 £ 1RXE Zig R AT
aRs | mmmm | o0 | sEme | memEs | mEEE | ERH
HFIRAELEEIS TR FEWMEE s s
% % % %
6 %8 igi4A T v RAK 12| 1.04 1.1 0.50 —
2| 0.04 0.9 0.01 —
3 &l 0.03 0.9 0.01 —
7% igif T v RAK 12| 511 1.6 3.52 —
2% 3.27 1.1 2.25 —
3E| 2.23 1.1 1.49 —




HEEHDELE

A=
ERIE fT IR 4 Hh g HiEt B (L hig
TR £ 1RXE FWE D EH 5 LVl
gxn | mmmx | o0 | wEme | mEmER | BERM | RN
sppEs s | EE SRBEER RRE BRE
% % % %
6 %8 igi4A T v RAK 12| 7.48 2.0 5.49 —
2| 5.04 1.8 3.25 —
3 &l 2.45 1.2 1.55 —
7% igi4f T v o RAK 12| 5.60 1.6 4.01 —
2% 3. 81 1.3 2.52 —
3E| 2.28 1.1 1.49 —
#RIE fiT IR 4 Hh 33 HiEt B hig
TR £ 1RXE TR INEE™
gxn | mmmx | o0 | wEme | mEmER | BERM | RN
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*&%$ gﬁi&'$ gﬁi&'$
% % % %
6 %8 igi4A T v RAK 12| 3.40 1.4 2.09 —
2| 1.717 1.1 1.13 —
3 &l 1.05 1.0 0.65 —
7% igif T v RAK 12| 6. 31 1.7 4.62 —
2% 4. 46 1.3 3.17 —
3E| 3.04 1.1 2.07 —
ERE fiT IR 4 Hh 33 #iEt B Hhig
TR 51 X TRYH R IR R YAAR SRk T
gxn | mmmx | o0 | gEme | mEmES | BERM | BN
HFIRAELEEIS TR FEWMEE R R
% % % %
6 %8 igi4A T v RAK 12| 3.69 1.5 2.25 —
2| 1.99 1.1 1.25 —
3 &l 0.95 1.0 0.57 —
7% igif T v RAK 12| 2.97 1.5 1.69 —
2% 1. 46 1.1 0.89 —
3E| 0.74 1.0 0.41 —




HEEHDELE

x=
B R 5 FETE AL,
R ERLS) R R R R AT
L Y| A
S S SLRIERS | same | memax | BEEs RIBH)
_;Heiﬁlzﬁggﬁgué 7T=£$ ﬁﬁ*& = $ £EE$ §EE$
% % % %
64 A Ty AARX 1] 1.92 1.3 1.01 -
2% 0.51 0.9 0.30 -
3 & 0.15 0.9 0.02 -
74 A Ty AARX 1 &) 2.04 1.2 1.20 -
2% 0.73 1.0 0.40 -
3 & 0.15 0.9 0.02 -
HER R ) FETE AL,
e ERLS) R AR E AT
L Y| A
S S SLRIERS | same | memax | BEEA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
6% A Ty AARX 1] 4.06 1.8 2.28 -
2% 1.96 1.1 1.22 -
3 & 0. 66 1.1 0.26 -
74 A Ty AARX 1 &) 2.68 1.4 1.56 -
2% 1.43 1.0 0.95 -
3 & 0.83 1.0 0.48 -
HER R i FET LI,
e ERLS) R RBHBIBH
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
;jeiﬁﬂﬁggﬁgué 7T=£$ i&*& = $ §EE$ §EE$
% % % %
64 A Ty AARX 1] 5.76 2.2 3.57 -
2% 3.04 1.3 1.89 -
3 & 1.34 1.1 0.74 -
74 A Ty AARX 1 &) 5.04 2.0 3.05 -
2% 2.43 1.2 1.51 -
3 & 1.03 1.1 0.55 -




HEEHDELE

x=
B R 5 FaT AL,
R ERLS) FKBRRBIATH
L Y| A
S S SLRIERS | same | memax | BEEs RIBH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ £EE$ §EE$
% % % %
64 A Ty AARX 1] 4.00 1.5 2.51 -
2% 2.12 1.2 1.26 -
3 & 1.09 1.0 0. 68 -
74 A Ty AARX 1 &) 5.34 1.9 3.45 -
2% 3.15 1.5 1.83 -
3 & 1.21 1.1 0.64 -
HER R ) Fat B LI,
e ERLS) R RRERIER
L Y| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
6% A Ty AARX 1] 1.17 2.0 5.18 -
2 & 4.7 1.8 2.92 -
3 & 2.32 1.1 1.51 -
74 A Ty AARX 1 &) 6. 26 1.8 4.47 -
2% 4.12 1.5 2.63 -
3 & 2.04 1.1 1.29 -
HER R i RLEE
e ERLS) RO BB 58]
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬂﬁf}i‘f%ﬁ%ﬂé ﬁ:&$ ﬁ:&*& = $ gﬁi&'$ gﬁi&'$
% % % %
64 A Ty AARX 1] 6.00 1.8 4.21 -
2% 3. 56 1.3 2.30 -
3 & 2.1 1.0 1.48 -
74 A Ty AARX 1 &) 9.72 2.3 7.43 -
2% 1.13 2.0 5.14 -
3 & 4.90 1.3 3. 61 -




HEEHDELE

x=
B R 5 RLEE
R ERLS) RO RS R ET
L Y| A
S S SLRIERS | same | memax | BEEs RIBH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ £EE$ §EE$
% % % %
64 A Ty AARX 1] 10.05 3.2 6. 86 -
2% 6. 66 2.0 4.67 -
3 & 3.85 1.6 2.21 -
74 A Ty AARX 1 &) 9.48 2.7 6.79 -
2% 6. 40 2.0 4.4 -
3 & 3. 86 1.5 2.38 -
HER R ) Fat e,
e ERLS) TR T FXAT
L Y| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
6% A Ty AARX 1] 3.93 1.7 2.24 -
2% 1.70 1.2 0.93 -
3 & 0.03 0.9 0.01 -
74 A Ty AARX 1 &) 3.12 1.7 1.64 -
2% 1.05 1.1 0.57 -
3 & 0.03 0.9 0.01 -
HER R i Fat LI,
e ERLS) FHRE BB B R
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
;jeiﬁﬂﬁggﬁgué 7T=£$ i&*& = $ §EE$ §EE$
% % % %
64 A Ty AARX 1] 3.56 1.5 2.13 -
2% 1.85 1.1 1.19 -
3 & 1.05 1.0 0.65 -
74 A Ty AARX 1 &) 3.73 1.5 2.28 -
2% 1.98 1.1 1.24 -
3 & 1.05 1.0 0.65 -




HEEHDELE

x=
EER R 5 RLEE
R ERLS) RB R BT
L Y| A
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64 A Ty AARX 1] 2.48 1.6 1.20 -
2 & 0.41 0.15 -
3 & 0.03 . 0.01 -
74 A Ty AARX 1 &) 2.57 1.6 1.28 -
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6% A Ty AARX 1] 11.05 2.7 8. 36 -
2% 8.43 1.6 6. 84 -
3 & 6.63 1.5 5.14 -
74 A Ty AARX 1 &) 11.52 2.3 9.23 -
2% 9.23 1.6 1. 64 -
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64 A Ty AARX 1] 2.47 1.2 1.54 -
2% 1.39 1.1 0.83 -
3 & 0. 36 1.0 0.14 -
74 A Ty AARX 1 &) 2.80 1.1 1.88 -
2% 1.85 1.1 1.19 -
3 & 0.90 1.0 0.53 -
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64 A Ty AARX 1] 2.44 1.5 1.29 -
2% 1.03 1.1 0.55 -
3 & 0.03 0.9 0.01 -
74 A Ty AARX 1 &) 2.71 1.5 1.55 -
2% 1.26 1.1 0.73 -
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2% 1. 64 1.1 0.97 -
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- A Ty RAARX 1] 8.39 1.6 6.80 -
2% 6. 80 1.5 5. 31 -
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5% A Ty AARX 18| 10.93 2.0 8.94 -
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3% igi4A T v RAK 12| 7.96 2.3 5.67 —
2| 5.23 1.3 3.94 —
3 &l 3.93 1.2 2.74 —
4 %5 igi4f T v o RAK 12| 6.15 1.7 4. 46 —
2% 4.22 1.5 2.73 —
3E| 2.40 1.1 1.57 —
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3% igi4A T v RAK 12| 5.92 1.8 4.13 —
2| 4.06 1.5 2.57 —
3 &l 2.13 1.1 1.36 —
4 %8 igif T v RAK 12| 5.85 1.8 4.06 —
2% 3.57 1.5 2.16 —
3E| 1.56 1.1 0.91 —
ERE AT IR 4 Hh iz #iEt B hig
3 %1 Xig BT ET
aRs | mmmm | o0 | sEme | memEs | EEEE | ERH
spamns | BEE B EE R R
% % % %
3% igi4A T v RAK 12| 6.03 2.0 4.04 —
2| 3.22 1.3 2.03 —
3 &l 1.36 1.2 0. 67 —
4 %8 igif T v RAK 12| 3. 81 1.3 2.52 —
2% 2.05 1.1 1.29 —
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3 A Ty AARX 18| 1.19 2.3 4.90 -
2% 4. 66 1.5 3.17 -
3 3.09 1.2 2.02 -
4% A Ty AARX 18| 6. 21 2.0 4.22 -
2% 3. 80 1.3 2.51 -
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3 A Ty AARX 18| 9.43 2.6 6.84 -
2% 6. 82 1.6 5.23 -
3 4.84 1.6 3.25 -
4% A Ty AARX 18| 5.69 1.7 4.00 -
2% 3.83 1.3 2.54 -
3 & 2.18 1.2 1.31 -
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4% A Ty AARX 18| 1.67 2.3 5.38 -
2% 5.22 1.5 3.73 -
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3 A Ty AARX 1] 9.56 2.0 1.57 -
2% 1.57 2.0 5.58 -
3 & 4.98 1.3 3.69 -
4% A Ty AARX 1 &) 1.50 1.6 5.91 -
2 & 6.15 1.3 4.86 -
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2 | 1.40 2.0 5. 41 -
3 & 4.72 1.6 3.13 -
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2% 6.09 1.7 4.40 -
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3 A Ty AARX 1] 8.55 2.3 6. 26 -
2 & 5.94 1.8 4.15 -
3 & 3.84 1.3 2.55 -
4% A Ty AARX 1 &) 8.20 2.3 5.91 -
2 & 5.45 1.5 3. 96 -
3 & 3. 66 1.3 2.38 -
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3 A Ty AARX 1] 8.43 2.0 6.44 -
2% 6.28 1.8 4.49 -
3 & 3. 66 1.3 2.38 -
4% A Ty AARX 1 &) 5.18 1.6 3.59 -
2% 3.22 1.5 1.88 -
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2% 4.78 1.6 3.19 -
3 & 2.71 1.1 1.91 -
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2% 3. 41 1.6 1.93 -
3 & 1.08 1.0 0.67 -
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3 A Ty AARX 1] 4.99 1.5 3.50 -
2 & 3.45 1.2 2.31 -
3 & 1.96 1.1 1.28 -
4% A Ty AARX 1 &) 4.04 1.6 2.45 -
2% 2.13 1.2 1.217 -
3 & 0.81 0.9 0.53 -
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3% g4 T v RARK 18 8.47 2.3 6.18 -
2| 5.99 1.8 4.20 —
3 &l 3.89 1.3 2.60 —
4 %5 igi4f T v o RAK 12| 7.84 2.3 5.55 —
2% 5.37 1.8 3.58 —
3E| 3.05 1.3 1.90 —
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2| 6. 06 1.6 4.47 —
3 &l 4.05 1.2 2.86 —
4 %8 igif T v RAK 12| 6.93 2.0 4.94 —
2% 4.75 1.5 3.26 —
3E| 2.87 1.1 1.94 —
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3% igi4A T v RAK 12| 7.28 2.2 5.09 —
2| 4.63 1.3 3.34 —
3 &l 3.08 1.2 2.02 —
4 %8 igif T v RAK 12| 6.99 2.9 4.10 —
2% 3.83 1.2 2. 64 —
3E| 2.45 1.1 1.61 —
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3 A Ty AARX 1] 1.35 1.8 5.56 -
2% 5.26 1.6 3.67 -
3 & 2.96 1.3 1.83 -
4% A Ty AARX 1 &) 5.19 1.3 3.90 -
2% 3.87 1.3 2.58 -
3 & 2.09 1.2 1.24 -
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3 A Ty AARX 1] 6.14 1.6 4.55 -
2% 4.49 1.5 3.00 -
3 & 2.63 1.1 1.75 -
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2% 4.90 1.6 3.31 -
3 & 2.4 1.3 1.40 -
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3 A Ty AARX 1] 5.94 1.8 4.15 -
2% 4.02 1.5 2.53 -
3 & 2.18 1.1 1.45 -
4% A Ty AARX 1 &) 5. 91 1.8 4.12 -
2% 3.98 1.5 2.49 -
3 & 2.18 1.1 1.45 -
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3 A Ty AARX 1] 6.93 1.8 5.14 -
2% 5.13 1.5 3. 64 -
3 & 3.38 1.1 2.34 -
4% A Ty AARX 1 &) 6.79 2.0 4.80 -
2% 4.59 1.6 3.00 -
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3 A Ty AARX 1] 1.31 1.6 5.72 -
2% 5. 66 1.6 4.07 -
3 & 3.54 1.5 2.13 -
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2 & 4.30 1.3 3.01 -
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3 A Ty AARX 1] 6. 71 1.8 4.92 -
2 & 4.57 1.6 2.98 -
3 & 2.26 1.3 1.28 -
4% A Ty AARX 1 &) 5. 56 1.6 3.97 -
2% 3.65 1.3 2.31 -
3 & 1.94 1.2 1.12 -
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3 A Ty AARX 18| 6.88 1.6 5.29 -
2% 5.13 1.6 3. 54 -
3 2.80 1.5 1.57 -
4% A Ty AARX 18| 6.15 1.6 4.56 -
2% 4.46 1.5 2.97 -
3 & 2.21 1.3 1.29 -
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3 A Ty AARX 18| 9.65 3.2 6. 46 -
2% 6. 39 1.8 4.60 -
3 4.29 1.5 2.80 -
4% A Ty AARX 18| 8.217 2.4 5.88 -
2% 5.58 1.5 4.09 -
3 & 3.90 1.3 2. 61 -
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3 A Ty AARX 18| 6.42 1.8 4.63 -
2% 4.58 1.3 3.29 -
3 3.07 1.2 2.01 -
4% A Ty AARX 18| 5.63 1.8 3.84 -
2% 3.68 1.2 2.49 -
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3 A Ty AARX 1] 1.28 2.2 5.09 -
2% 4.81 1.8 3.02 -
3 & 2.24 1.1 1.44 -
4% A Ty AARX 1 &) 5.72 2.0 3.73 -
2% 3.45 1.5 2.06 -
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3 A Ty AARX 1] 6.28 1.6 4.69 -
2% 4.64 1.5 3.15 -
3 & 2.93 1.2 1.90 -
4% A Ty AARX 1 &) 8.46 2.7 5.77 -
2% 5. 31 1.8 3.52 -
3 & 2.95 1.5 1.67 -
HER R ) CRELE)
R ERLS) R
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
) _;Heiﬁlzﬁggﬁgué 7T=$E$ ﬁﬁ*&%g £EE$ §EE$
% % % %
3 A Ty AARX 1] 6.52 2.0 4.53 -
2% 4.25 1.6 2.66 -
3 & 2.28 1.2 1.39 -
4% A Ty AARX 1 &) 5. 46 1.6 3.87 -
2% 3. 60 1.3 2.33 -
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3% igi4A T v RAK 12| 6. 01 1.8 4.22 —
2| 4.10 1.5 2.61 —
3 &l 2.22 1.1 1.48 —
4 %5 igi4f T v o RAK 12| 7.49 2.0 5.50 —
2% 5.39 1.6 3.80 —
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2| 3N 1.2 2.52 —
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3 A Ty AARX 1] 4.29 1.5 2.80 -
2% 2.32 1.1 1.51 -
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2% 6.10 1.6 4.51 -
3 & 4.20 1.2 3.01 -
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2% 3.79 1.1 2.70 -
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